4
1.0 GENERAL NOTES

1.1 ALL METRIC DIMENSIONS ARE IN BRACKETS [X. X]

1.2 FOR PATENT INFO: https://www.cs-pat.com
2.0 DESIGN NOTES

2.1 ANY HAZARDS OR OBSTRUCTIONS TO THE CLIMBING FACILITY AND SAFETY CLIMB MUST BE
IDENTIFIED PRIOR TO INSTALLING THE APPURTENANCE. ADDITIONAL PRODUCTS MAY BE
REQUIRED TO MAINTAIN THE INTEGRITY OF THE SAFETY CLIMB. DURING INSTALLATION,
TEMPORARY AND/OR PERMANENT PRECAUTIONARY MEASURES SHOULD BE TAKEN TO
PRESERVE THE CLIMBING FACILITY AND/OR SAFETY CLIMB.

2.2 FITS MONOPOLES 15"-45" O.D.

2.3 ANTENNA PIPES SHOULD BE CENTERED AND EVENLY SPACED.

2.4 POSITION MOUNT OR ADJUST SAFETY CLIMB CABLE SO NOT TO HINDER OR DAMAGE OR
OBSTRUCT THE SAFETY CLIMB. SAFETY CABLE ROUTING BRACKET MAY BE PURCHASED
SEPARATELY.

3.0 MANUFACTURING/SPECIAL REQUIREMENTS

3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN ALL
U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE AND
EQUAL FORCE ON EACH LEG OF THE U-BOLT. ALL FASTENERS SHOULD BE TIGHTENED PER
AISC 6.5.2.

[3.2> SUGGEST PRE-ASSEMBLE MINI KICKER BRACKET TO RING MOUNT ON THE GROUND.

4.0 TEST

5.0 PACKAGING
5.1 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT [S-PL-3005
5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER
5.3 EXTRA HARDWARE MAY BE SUPPLIED, BAGGED AND SHIPPED

©288[730] |
ANTENNA PIPE

:;-

(42.0(1066.8))

126.0[3200.4] i

ANTENNA PIPE

REVISIONS
REV. DESCRIPTION DATE APPROVED
YMENG CB1094
C CREATED INDIVIDUAL DRAWING 05JUN24 | 40197348CMO

|

41.6[1055.9]

|

W\
\\\\‘\\\\\

4
,/1,”/1

A

15( 381.0

io—

~—igh

@45 {1 143.0

} MONOPOLE

180.0[4572.0]
©2.88(73.0] HANDRAIL PIPE
i — ) E—
©2.88(73.0] FACE PIPE
11— " " Il
olnm =
T— L] H TEC ﬁ
COMMSCOPE, INC. OF NORTH CAROLINA
TOLERANCES SAP MATERIAL MASTER
1PLACE XX+ 0.2[6.3] 3 PLACE XXX[.X]+ 0.060[1.5] MP-PP15M-12C-126
2 PLACE Xx[X]+ 0.12[3.0] ANGLES ¢ 2°
FINISH MATERIAL
3 NAME DATE | TITLE
spf B O Dol MP,15',3S,(12)2.88"X126"PIPE,W/HR
52> RW | YMENG 06/06/2024
DENSITY Ibs/in® g) % % W
MASS | 302039 Ibs EZ2 ap | ontons 06/07/2024
VOLUME | 11044.29 i | 23%  [RE [YMENG 06072024 | SCALE | DOCUMENT NO.
SURFACEAREA (9738699 in* | 355 [gcy 40197348CMO 1:28 MP-PP15M-12C-126
HEIGHT SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH VERSION | STATUS [ REVISION | VERSION | STATUS | REVISION
@ 2024 CommScope, Inc. Confidential WIDTH C @ 6 03 RE D 00 RE C 10F 10
2 ]




4

PART NUMBERS, WEIGHTS, & EPA

TABLE 1: CONFIGURATIONS

D INCLUDED PARTS
EPA)A 1/2" ICE o || |5
PART NUMBER DESCRIPTION weieHt | (EPAA | SRHIBAESST | anteNnaPIpES ||l S|l
%225 gzl82
O|lO|w|la|lE||d |-
S =S == X|=
MP-PP15M-12C-126 MP,15'3S,(12)2.88"X126"PIPE,W/HR 3020.39 36.66 48.93 12 1] 1] 1 1] 3| 1] 2[12
* (EPA)A DOES NOT INCLUDE ANTENNA PIPES AND MOUNTING HARDWARE. IF DESIRED, ADD ANTENNA PIPE PER TABLE 2
TABLE 2: EPA OF EACH ANTENNA PIPE
ANTENNA PIPE (EPA)A (FTA2) ﬁ"léﬁ\l‘l’z"égfﬁ'fg
2.7/8" X126" 242 326
C NOTE:
1. ANTENNA PIPES ARE CONSIDERED SEPARATELY.
2. KAFACTOR OF 3-SECTOR EPA INCLUDED.
3. COMBINE THE ASSOCIATED EPA VALUES IN THE TABLES ABOVE TO DETERMINE THE EPA OF A MOUNT MODEL WITH A LISTED MOUNT PIPE CONFIGURATION.
FOR EXAMPLE, MP-PP15M-12C-126 HAS A 3-SECTOR EPA OF 36.66 FT2 WITH NO ICE PLUS 12 ANTENNA PIPES WITH A 3-SECTOR EPA OF 12X2.42=29.04 FT2 WITH NO ICE.
SO, THE TOTAL EPA OF 65.70 FT2 FOR THE MP-PP15M-12C-126
B
A

@ 2024 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

MP,15',3S,(12)2.88"X126"PIPE,W/HR

SIZE

C

SCALE

1:48

DOCUMENT NO.

MP-PP15M-12C-126

@ =

DRAWING

VERSION

STATUS

REVISION

00

RE

C

SHEET
20F 10



4 3 2 ]
FLATFORM FOR INSTALLATION

ADJUST THE INSTALLATION DISTANCE ACCORDING TO THE DIAMETER OF THE MONOPOLE WHEN INSTALL PLATFORM MC-AS-7000-00.
SEE TABLE 3 DETAIL FOR THE DISTANCE ADJUSTED.

| DN / )
o) O - H
55 | Oﬁ_zz
== =22
A == =2:32
=S gggg;éé 41.6[1055.9)]
[ Al == | EEEEEEEEEEU <] !
— 45[1143.0
INSTALLATION DISTANCE

s B v

)

W WA
R R
\\\\\\\\\\:\\\\\\\\\\\\\\\\\\\

\ \
; \\\\\\\\ AL Y /
Rl g W/
DETAIL X e — g -
v I =
SCALE 1:6
TABLE 3: PLATFORM INSTALLATION POSITION
DIAMETER OF MONOPOLE DISTANCE DIAMETER OF MONOPOLE DISTANCE
(INCH) (INCH) (MM) (MM)

15 25.40 381.0 645.2

17.5 24.13 444 5 612.9

20 22.85 508.0 580.4
22.5 21.58 571.5 548 .1

25 20.30 635.0 515.6
27.5 19.03 698.5 483.4

30 17.75 762.0 450.9 COMMSCORPE, INC. OF NORTH CAROLINA
325 16.48 825.5 418.6 TTLE

3 15.21 889.0 386.3 MP,15',3S,(12)2.88"X126"PIPE, W/HR
375 13.93 952.5 353.8

40 12.66 1016.0 321.6

SIZE SCALE DOCUMENT NO.
42.5 11.38 1079.5 289.1
. MP-PP15M-12C-126
45 10.11 1143.0 256.8 C 1 23
DRAWING SHEET
NOTE: FOR MONOPOLE DIAMETERS THAT ARE NOT IN THE TABLE, USE BELOW FORMULA TO GET THE VALUE OF THE ADJUSTMENT: @ 6 VERSION STATUS | REVISION
DISTANCE OF ADJUSTMENT = 33.05- 0.51*D (INCH), WHERE D(INCH) IS THE DIAMETER OF MONOPOLE @ 2024 CommScope, Inc. Confidential 00 RE C 30F10

4 3 2 ]



DETAIL A
SCALE1:6

B COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT.

4

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 MC-RMHD-1245-3 |3 SECTOR RING MOUNT, 12"-45" POLE 1 329.19 LBS
2 MC-AS-7000-00 WELDMENT,CO-LOCATION PLATFORM DECK 3 208.07 LBS
3 MC-AS-5000-00 WELDMENT, MONO PLATF SPINDLE 3 107.22 LBS
4 MC-AS-6100-00 WELDMENT, MINI KICKER BRACKET 3 14.77 LBS
5 RK48-00 MINI KICKER ARM SUPPORT TUBE 48" 3 22.96 LBS
6 GB-0550A 5/8" X 5" GALV BOLT KIT (A325) 6 0.52 LBS
7 GWF-05 5/8" GALV FLAT WASHER, 1.70D 33 0.06 LBS
8 GB-0524A 5/8" X 2-1/2" GALV HEX BOLT (A325) 27 0.31LBS
9 MC-AS-1200-00 CLAMP PLATE, CO-LOCATION PLATFORM 6 297 LBS
10 |9615-14 BOLT,CARRIAGE,5/8-11,8.5,STL GALV 12 0.82 LBS
11 GWL-05 5/8" GALV LOCK WASHER 12 0.03LBS
12 |GN-05 5/8" GALV HEX NUT 12 0.08 LBS
13 |GB-05125 5/8" X 1-1/4" GALV BOLT KIT 3 0.20 LBS
14 |GUB-4355 1/2" X 3-5/8" X 5" GALV U-BOLT 12 0.71LBS

A 15 |MT546180 2.875" 0.D. X 180" PIPE 6 87.21 LBS
16 |GUB-4352 1/2" X 3" X 5-1/4" GALV U-BOLT 12 0.71LBS
17 MC-AS-6300-00 CORNER WELDMEMT, HANDRAIL 31.87 LBS
18 MC-AS-6400-00 WELDMENT, MINI KICKER CLIP 5.97 LBS
19 |GB-0520A 5/8" X 2" GALV BOLT KIT (A325) 0.26 LBS
20  |XP-2525 CROSSOVER PLATE KIT, 2-7/8 OD X 2-7/8 OD 24 8.37 LBS
21 MT-546-126 PIPE, 2.875"0D X 126" 12 61.05 LBS

UL

CR70000/0/0000000000000(

JUUVAA

10/0000/0/060000000660/4¢0'¢

S XX LA

14

DETAIL F
SCALE1:5

JOUSCEE0L
TIOUUIOUCL
b/ ¢

JUIUCISEUL
090/0000'¢

DETAIL G
SCALE1:5

@ 2024 CommScope, Inc. Confidential

17
|
B
—.-

*SOME ITEMS OMITTED FOR CLARITY*

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

MP,15',3S,(12)2.88"X126"PIPE,W/HR

SIZE SCALE DOCUMENT NO.
C | 1:20 MP-PP15M-12C-126
DRAWING
SHEET
@ 6 VERSION STATUS | REVISION
00 RE C 4 0F 10
]



DETAIL B
SCALE1:6

DETAIL C
SCALE1:5

DETAIL D
SCALE1:6

DETAILE
SCALE 1:4

\/
|
"

y
|
|

RN
\\\\“\\\\‘\\\\“\

M\ /
R 1,0,
RRRRIMTTRRRRY ",
AL A Y D
AUTARLH LAV T T Y 1,71,/
AT T T g I, iy
. AN QA b A .
'—% A #@# - ~7 %@% a8 %@#J

SECTION H-H
SCALE 1:6

(:) 2024 CommScope, Inc. Confidentia

*SOME ITEMS OMITTED FOR CLARITY*

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

MP,15',3S,(12)2.88"X126"PIPE,W/HR

SIZE

C

SCALE

1:20

DOCUMENT NO.

MP-PP15M-12C-126

@ =

DRAWING
VERSION STATUS | REVISION
00 RE C

SHEET
50F 10



4
ANTENNA SPACING SHOWN

180.0(4572.0]

XX
.'/
(-]
(] ] -t
——
b—2—%
=5
=9
=SS5
=S5
- e e
- e =
-l e T
o< >
=52
-
- -
= 6[1055.9
SSSSS=S
——9>—<—>—<5—% %Z
-— -y 27
<5< o< XA
==
=<2 %
S22 7.
,=n=:>—<="=>—<=‘§ <
;'ﬁ S
0 o
\

R\
g \&\\\
R

NN

QRN

‘ RN
LR W

LRI V1), 7!‘,‘
TR I
AR /0y,
Y I
° A

~———56.0[1422.4]

o

—=  28.0[711.2]

—— 56.0[1422.4] ———=

15" MONOPOLE

~ g

~—————56.0[14224] ——=

@ 2024 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
MP,15'3S,(12)2.88"X126"PIPE,W/HR
SIZE SCALE DOCUMENT NO.
C | 1:25 MP-PP15M-12C-126
DRAWING
@ 6 VERSION STATUS | REVISION SHEET
00 RE C 6 OF 10




4

ANTENNA SPACING SHOWN

180.0(4572.0]

[O]
&
A ‘
o_© | | &=

——
b—2—%
=5
=9
-

S—8—S5—<
=1. ‘=1=1
- e =
- =
—— e
= =1=1=1
=S5 . .
25—
=SS5 —5—<
= =< >=—¢
=522 z

—3—5—2"52% %5
=S 2—5-2—S-< YA
o= > > )
=< =1=1D==1=1 %
=—S=—2—5-—¢—5-—< A%
T T e T S WN
52 S5 S5
< S >=—¢ >=—¢

——5—2525
-5 5-25-<
=S5 5—¢

2828 2S¢
—g—S—<S— -8 5—23—5-<

0 o
\

o,
I
/‘ ’| y i’;”)” "’; 1

©25.0[635.0]

I i,
AT Y I,
e CCORUTRITTHIETHETRRERNY \! /) Yy, LI+ Yy v, LI D9
CRRTRTRRY MINWN D
hiatininiinin g W i e e,
1t H 0 0 %\ /g n o H 4
\) \‘)y W W
ti ti ti e —
|
—=—  280[7112] (= N

~———56.0[1422.4]

56.0[1422.4] ———=

25" MONOPOLE

L eee——~

~—————56.0[14224] ——=

@ 2024 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
MP,15'3S,(12)2.88"X126"PIPE,W/HR
SIZE SCALE DOCUMENT NO.
C | 1:25 MP-PP15M-12C-126
DRAWING SHEET
@ 6 VERSION STATUS | REVISION
00 RE C 70F 10




4 3 2 1
ANTENNA SPACING SHOWN

[O]
\X]
<
o © | %‘Eé ‘
Bl | B
EEEEE% 416[1055.9]
%EEE%E%%E R
180.0[4572.0] e S S S\ AR !
—— — ©35.0(889.0]
15.2(386.2]
J o8 le N\

),
*/l"‘ / P
A,
<SRt | Ul 1,4’1‘ i,
R N\ i
it i i e il
SRR R s,
AL U TN V1 0
,‘ri.\\*\\u\‘,\ﬁ“\\ J&\\‘;.\&}\M\,\ﬁ;\\*\;.it\\ A% Uil ! 144°044% !llh:!l'h‘:l M

A QA Lo .
A Tor — T ¥or 7 %ﬁ# (25.5(648.0] )
" T B
| i\/
—=—  280[711.2] |-

[ PR R ———

~——————56.0[1422.4] —— 56.0[1422.4] —m—t==—————56.0[1422.4] ——=
35" MONOPOLE
COMMSCOPE, INC. OF NORTH CAROLINA
TITLE
MP,15',3S,(12)2.88"X126"PIPE,W/HR
SIZE SCALE DOCUMENT NO.
C | 1:25 MP-PP15M-12C-126

DRAWING

@ 6 VERSION | STATUS | REVISION SHEET
@ 2024 CommScope, Inc. Confidential 00 RE C 8 OF 10




4
ANTENNA SPACING SHOWN

[
‘6—
"/ ‘
©_0o ] =2
>—<¢
-
>—<¢
>=—¢
—zg >=—=
P—=< >—%
- e S Y
>—<¢
b—g >—<
>—<% _—:
—zg >=—=
S >—<%
P—=< >—%
>—<¢ >—<%
- Sl
>—<¢ —
b—g >—< >—=%
>—<% _—:
—zg >=—< >—=%
S >—<%
P—=< >—= >=—%
>—<¢ >—<% . .
- Sl —
>—<¢ —
b—g >—< >—<%
>—<% S _—.
—zg >=—< >—=%
S >—<% >—<¢
- S—r2 S—<¢ "
>—<¢ >—<% >—=¢ Y X
- Sl — XS
>—x >—% >=—¢ 2 \(
=S ==
—=¢ >=—¢ >—=¢ >—% Nt
- >—<% >—< I\
=< =< >=—X >=% X~
>=—< >=—< >=—< o
- _—: S — S
>—= — >—= >—2 )
b—g >—<% >—<¢ >—<%
>—= _—: Sl —
. >=—¢ >—<¢ >—%
- >—<% >—< >—<%
D T s T s O
>—= — >—= >—<
2 = >=<_>=C =< _ =<
a A - - P—= >—=% >—<¢ >—% >=—% ) '.- ‘..
4 ? 7 N
180.0 5 2.0 (o] o

ol
Y=g

©$45.0[1143.0]

45" MONOPOLE

‘\\v /) L’ A
:k‘y\l N\ ‘/’ 1) P
CRRURRN I 0,
SRR AR I,
Y N
AW W, 015000 1007 00 e
g i ~—ch T
—
|
—=—  280[711.2] |- N
~——————56.0[1422.4] —— 56.0[1422.4] —m—t==—————56.0[1422.4] ——=

L eee——~

(:) 2024 CommScope, Inc. Confidentia

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE
MP,15'3S,(12)2.88"X126"PIPE,W/HR
SIZE SCALE DOCUMENT NO.
C | 1:25 MP-PP15M-12C-126
DRAWING

@ él[ VERSION STATUS | REVISION
00 RE C

SHEET
9OF 10



4
OPTIONAL ACCESSORIES
(ALL THE ACCESSORY ITEMS TO BE PURCHASED SEPARATELY)
MP RRU SUPPORT KIT:
D XP-PM-D
XP-PM-S
RR-FA2 OR RR-FA4 XP-PM-D MOUNTED VIEW
iy A
7 e
2 z%"%.
by
C T

\

: 4\\\

~ocCC\\ \
T
A\ Q

W\
> -

RR-FA2 OR RR-FA4
RADIO SHOWN
FOR REFERENCE

FITUP 2.375"0.D. TO
3.50" O.D. PIPE

XP-PM-D

(HIDE ONE SIDE OF THE RRU FOR CLARITY)
DETAIL XP-PM-D MOUNTED VIEW
SCALE 1:10
RADIO SHOWN
FOR REFERENCE

FITUP 2.375"0.D.TO
3.50" O.D. PIPE

RR-FA2 OR RR-FA4

XP-PM-S
DETAIL XP-PM-S MOUNTED VIEW
‘ SCALE 1: 10
\\\‘Q\‘\: RADIOS ROTATED COMMSCORPE, INC. OF NORTH CAROLINA
SRR 90 DEGREES —
S %\\\@ \\\\\N
\\\\\\\&t\%%\:\\ N\ \\K \\\\ MP,15',3S,(12)2.88"X126"PIPE,W/HR
‘\‘\\%‘\\\\&‘\“\\‘\\*‘ e SIZE SCALE DOCUMENT NO.
QA \ Q C | 1:20 MP-PP15M-12C-126
\$7 DRAWING
e SHEET
@ 2024 CommScope, Inc. Confidential @ 6 VET%ON STQTEUS REVIEION 10 OF 10
2 ]



	Sheet1
	Drawing View2
	Drawing View4
	Drawing View7

	Sheet2
	Sheet3
	Drawing View78
	Detail View X (1 : 6)

	Sheet4
	Drawing View31
	Detail View F (1 : 5)
	Detail View G (1 : 5)
	Detail View A (1 : 6)

	Sheet5
	Detail View B (1 : 6)
	Detail View C (1 : 5)
	Detail View D (1 : 6)
	Detail View E (1 : 4)
	Drawing View142
	Section View H-H

	Sheet6
	Drawing View107

	Sheet7
	Drawing View144

	Sheet8
	Drawing View145

	Sheet9
	Drawing View146

	Sheet10
	Drawing View118
	Detail View XP-PM-D MOUNTED VIEW (1 : 10)
	Detail View XP-PM-S MOUNTED VIEW (1 : 10)
	Drawing View130
	Drawing View131


